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CTET-1 CDP Memory Based Questions 

 

Q1. NCF 2005 talks of major shifts from- 

 Ans: Knowledge is given and fixed as it 

evolves and is created 

 

Q2. According to NCF, 2005, the role of a teacher 

has to be:  

 Ans: Facilitative  

 

Q3. The space between what a learner can do 

without assistance and what a learner can 

do with adult guidance or in collaboration 

with more capable peers is- 

 Ans: Zone of Proximal Development  

 

Q4. LAD stands for- 

 Ans: Language Acquisition Device 

 

Q5. Dyslexia is a learning disorder related to- 

 Ans: Reading 

 

Q6. The inability in writing is related to-  

 Ans: Dysgraphia 

 

Q7. The principle of spiral versus linear 

advancement is associated with 

 Ans: Growth and development 

 

Q8. According to Piaget, which stage of cognitive 

development displays "object permanence"? 

 Ans: Sensory- Motor stage 

 

Q9. Which of the following would be helpful for 

an ADHD learner? 

 Ans: Give instructions one at a time. 

 

CTET-1 Mathematics Memory Based 
Question 

 
Q1. A train 240m long passes a pole in 24 

seconds, how long it will take to pass a 
platform 650 m long? 

 Ans: 89sec 
 
Q2. Find the HCF of 24, 36 and 42  
 Ans: 6 
 
Q3. According to Van Hiele Theory, Rigor 

represents which level of Van Hiele Theory 
–  

 Ans: 4th level  
 
Q4. 6+0.6+0.6+0.006+ ?=  8  
 Ans: 794 
 

CTET-1 EVS Memory Based Question 
 
Q1. The city which is famous for ‘Zari’ 

embroidery is: 
 Ans: Varanasi 
 
Q2. Select true statement about sloths from the 

following 
1. Sloths look like bear and spend almost 

22 hour a day sleeping while hanging on 
a tree branch. 

2. Sloths look like chimpanzee and spend 
almost 17 hours a day sleeping while 
hanging on a tree branch. 

3. Sloths look like chimpanzee and spend 
almost 22 hours a day sleeping while 
hanging upside down on a tree branch. 

4. Sloths look like bear and spend almost 
17 hours a day sleeping while hanging 
upside down on a tree branch. 

 Ans: Sloths look like bear and spend almost 
17 hours a day sleeping while hanging 
upside down on a tree branch. 
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Q3. Name a bird which has the following 
characteristics, “A crown on the head and 
coins on the tail, so many shades of blue 
from top to tail”. 

 Ans: Peacock 
 
Q4. What is the full form of PARAKH is - 
 Ans: PARAKH full form is Performance 

Assessment, Review, and Analysis of 
Knowledge for Holistic Development.  

 
Q5. Which day is celebrated as World Yoga Day? 
 Ans: 21 June 
 
Q6. Which festival is celebrated in South? 
 Ans: Onam 
 
Q7. Beriberi disease is caused by deficiency of 

which of the following Vitamins 
 Ans: Vitamin B1 
 

Q8. Jute fibre is obtained from which part of the 

Jute plant 

 Ans: Stem 

 

Q9. Which of the following is a parasitic plant? 

 Ans: Cuscuta 

 

Q10. Which of the following is referred to as 

‘Cotyledons”? 

 Ans: Seed leaves 

 

Q11. Which of the following is conventional 

source of energy? 

 Ans: Fossil fuels 

 

Q12. In EVS, a teacher can induct ‘cleanliness’ 

drive in school under 

 Ans: Project work 
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